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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
T fRPTRT M Bes i -
(@) What is expansion path?
TP #iY {2
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(2)

(b) When the price of a substitute of good A

()
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falls, the demand for A
(i) rises
(ii) falls
(iii) remains unchanged
( Choose the correct option )
@ A w1 s w9 0, cofen A oifzq
() e
(i) ¥
(iii) GCIFE AT
(o Rescor Afy Sfenear )

The main forces of a basic market model
are

(i) saving and investment
(i) demand and supply
(iii) None of the above
( Choose the correct option )
Qb1 o1 TG ACCT A FEER 2 A
(i) 1 o R
(i) SIRAT SIF 1o
(iii) S7RF OIS Ty
(o= s MR Sferear )

( Continued )

(d)

(e)

(9)

(h)

(i)

()
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(3)

When TR falls, MR is . (zero/one/
negative)

(Fill in the blank )

Qe o o™ 2P Am, oo S o = |
([T / 9= /e

(ﬁéﬂivﬁqw)

What would be the shape of indifference
curve if MRS increases?

M 2fee afewss Z9 I =, cofem e
QIR S TN 2’2

What is isoquant?

7 TeAWH &1 62

Define equilibrium.

SISO AT WA |

What is Giffen goods?
foee w1 52

What do you mean by production
function?

Teo(Twe Ferw Jfereet 6 @ 2

What is sunk cost?
S /Faftee T 2

( Turn Over )



2. Answer the following questions :
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(4)

o] 2R Teq ferd

(@ Show that MC = TVC, - TVC, ;.
r{ear @ MC = TVC,, - TVC,, ;.

(b) What is static equilibrium?

fEfeRer S 2

(c) Mention the conditions of profit
maximisation in terms of marginal
revenue and marginal cost,

AT WH WF AT I WgWe e
ACAHIAR TEC20] SCad 97 |

(d) What is income consumption curve?

SRI-Secelel 9% 9

(e) What does the marginal rate of
substitution of x for y (MRS xy) Tefer to?

y‘ﬁ'ﬁ%xﬂﬁﬁ@sﬁ%ﬁmmmmw)m
& @2

Answer any four of the following questions :

5x4=20

g A e B! 27 Tag o -

(@) Mention the properties of indifference
curve.

T @R GREPTRE e 4 |

2x5=10

( Continued )

(b)

(c)

(d)

(e)

(S)

Establish the relationship among AR,
MR and elasticity of demand.

ST 9@ (AR), 2If8F @ (MR) SI1% bIf3wE
fSTIFeR oo FIoe 341 |

What happens when working of market
is interfered?

JGH IRE ZEewA e [ 29
Draw TFC, TVC, AVC and AFC curves.

Y %9 99 (TFC), I @S I| (TVC), T8
ARG I (AVC) W% 1% %9 I3 (AFC)
@1 S A0

Describe the concept of opportunity cost
with examples.

TR STRIAS 15 I GREN I 4 |
Clarify the meaning of explicit cost and
implicit cost. -
2P IR A HAFT THI S SABCF for |

4. Answer any four of the following questions :

10%x4=40

word 3 CpIea oif¥b! 29 ©eq foray -

(@)
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Discuss the derivation of demand curve
from price consumption curve.

79 TSIl (IR AR BIfRA (I4 REes 3eeAfe
2, Sl 4 |
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(b)

()

(@)

(e)
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(6)

Explain Hicksian and  Slutsky’s
substitution effects. Which one is
superior?

Hicks W1¢ Slutskyd afessm e o
341 | GOl G5B 2

Explain the Marshallian concept of
consumer’s surplus. What are the
applications of this concept?

AL (e’ €389 qIReN I 3911 @
YR FIYFR 1% 5 2

Discuss how least cost combination of
inputs is attained with the help of
isoquants and isocost lines.

3 AW (@21 IF A I/ @A TS [
TS i IR S T Z, 6] 34 |

Distinguish between returns to a factor
and returns to scale.

o1 AWM AfSHE S SeAM AR Afewmg
e #1E T |

Discuss how the concepts of marginal

revenue and marginal cost are used to
maximise profit.

S AEAHFINR IR @EME AT SH S
#A1fe% T 4FN IR A 2, SCEAS] 341 |

( Continued )

(9)

(h)
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(7))

Describe the economies and
diseconomies of large scale production.

CECO ) S B 105 11O A 2

SFOAOPTRR I T4 |

Show that price effect = income effect +
substitution effect.

(RS @, W R = o7 Refe + afess
R |
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